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1) MES ZLIEZ A|AH 21 118 O|Lf 7tz 3 Al
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3) MAAE XZ|A|ZF 95%ECHs, =F|A|ZF 30& OfLY

(2 2UHY HiF A

18 [AAt HeHE 110x8x7000 1,000 60,000 1,000 65,000 108% 22 2,955
18 [BAF AHSKHE 115x8x7000 1,000 60,000 1,000 66,000 110% 22 3,000
18 [CAt 7| ATE=E | 94x8x7000 1,000 60,000 1,000 67,000 112% 22 3,045
A - 3,000 180,000 3,000 | 198,000 9,000
28 DA} M H2F | 96x8x7000 1,000 60,000 1,000 68,000 113% 22 3,091
28 |EAL AR 2dbg | 200x8x7000 1,000 60,000 1,000 69,000 115% 22 3,136
oA - 2,000 120,000 2,000 | 137,000 6,227
38 [FAH M HLF | 300x8x7000 1,000 60,000 1,000 65,000 108% 22 2,955
38 |GAt ARl 2Ebg | 150x8x7000 1,000 60,000 1,000 70,000 117% 22 3,182
A - 2,000 120,000 2,000 | 135,000 6,136

2 DZHA} e ESS4AM 1A= =k 2HE2 A="HY 1Y HIES
= T= & T2 =% s = s % s I T=

18 AAL g 110x8x7000 | 1,000 | 60,000 | 1,000 | 65000 | 108%| 11/10[ 11/9 Y
18 BAL AHEAHE 115x8x7000 | 1,000 | 60,000 [ 1,000 | 66,000 | 110%| 11/10| 11/8 Y
18 CAt Z|IATZ=E | 94x8x7000 1,000 60,000 | 1,000 67,000 | 112%| 11/10[ 11/11 N
HA| - | 3,000 [ 180,000 | 3,000 | 198,000

28 DAL A HAUF | 96x8x7000 1,000 | 60,000 | 1,000 | 68000 | 113%| 11/10| 11/8 \%
28 EAL Atef 2ddkg | 200x8x7000 | 1,000 | 60,000 | 1,000 | 69,000 | 115%| 11/10[ 11/11 N
Al - | 2,000 | 120,000 | 2,000 | 137,000

3H FA At HUZ | 300x8x7000 1,000 60,000 | 1,000 65,000 | 108%| 11/10[ 11/9 Y
38 GA AbQd stz | 150x8x7000 | 1,000 | 60,000 | 1,000 | 70,000 | 117%| 11/12| 11/9 \%
HA| - | 2,000 | 120,000 | 2,000 | 135,000




=221A = =7 & Sk =St H|
=g S % o5
15 AAL A E 1,000 60,000 1,000 65,000 108% Y
18! BAG PNE=PNE=2 1,000 60,000 1,000 66,000 110% Y
15 CA} T A =, 1,000 60,000 1,000 67,000 112% N
=HA| 3,000 180,000 3,000 198,000
28! DA} A HAEE 1,000 60,000 1,000 68,000 113% Y
28! EAG A EEE 1,000 60,000 1,000 69,000 115% N
= Al 2,000 120,000 2,000 137,000
3E FAF At HHE 1,000 60,000 1,000 65,000 108% Y
3l GAF At ebE 1,000 60,000 1,000 70,000 117% Y
A 2,000 120,000 2,000 135,000
2 A 7,000 420,000 7,000 470,000 112%
() g ==HE Y UH
NELE =AM HeElte YX}
MES 2LET M7/ 2|5 09 ¥ 07 ¥
MES 2LEHT M7/ 22| 09g 14¢¥
MES 2LIEE HF7HE &= 09g 23¢
MES 2LEZ /Y HE % =4 108 25 ¢
MES 2LET HF/HY = 108 30¢
MES ZL|ET oF Al 1M 01
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AN B8 Y Hret E5tEN My sEx2Z HE

26 = OZA ESLEA A=Y ESHAM 27142 HI7IA4H A = | 2dE
= 7= T2 T g 3% T = 5 =2 k] =2 3 %
18l FE [UHYE AN Y 11/10{ 110x8x7000 | 1,000 | 60,000 500 | 32,500 [- 500 |- 32,500 54%
1€l SE [RHSAE |BA Y 11/10| 115x8x7000 | 1,000 | 60,000 | 600 | 39,600 [- 400 |- 26,400 | 66%
18 W= |7IATFEE |CAt N 11/10| 94x8x7000 1,000 | 60,000 700 | 46,900 [- 300 |- 20,100 78%
A - | 3,000 180,000 | 1,800 [ 119,000 (- 1,200 |- 79,000
28 FE MY HUS |DA Y 11/10| 96x8x7000 1,000 | 60,000 800 | 54,400 [- 200 |- 13,600 91%
28 LHe= | At YRkE [EA N 11/10| 200x8x7000 | 1,000 | 60,000 0 6210 [- 910 |- 62790 | 10%
A - | 2,000 [ 120,000 890 | 60,610 |- 1,110 |- 76,390
38 & (A LG |FA Y 11/10| 300x8x7000 | 1,000 | 60,000 900 | 58500 [- 100 |- 6,500 98%
38 L= |t YRkE [GAF Y 11/12] 150x8x7000 | 1,000 | 60,000 | 1,000 | 70,000 - - 117%
24 - | 2,000 | 120,000 [ 1,900 | 128,500 |- 100 |- 6,500
A - | 7,000 | 420,000 | 4,590 | 308,110 |- 2,410 |- 161,890 | 73%
(2) MAxIAE =3 My
DY MES L FE diAE 8 2R SEOIE Y AE A" = A 12188) - X7

18l A 110x8x7000 1,000 60,000 | 1,000 65,000 | 108% 22 2,955
1€l AHSAHE 115x8x7000 1,000 60,000 | 1,000 66,000 | 110% 22 3,000
18 ZIAFZ=E | 94x8x7000 1,000 60,000 | 1,000 67,000 | 112% 22 3,045
A - | 3,000 [ 180,000 | 3,000 | 198,000 9,000
2E A HUZ | 96x8x7000 1,000 60,000 | 1,000 68,000 | 113% 22 3,091
28 AH) HEE | 200x8x7000 1,000 60,000 | 1,000 69,000 | 115% 22 3,136
A - | 2,000 [ 120,000 | 2,000 | 137,000 6,227
38 A H2Z | 300x8x7000 1,000 60,000 | 1,000 65,000 | 108% 22 2,955
38 A ez | 150x8x7000 1,000 60,000 | 1,000 70,000 | 117% 22 3,182
A - | 2,000 [ 120,000 | 2,000 | 135,000 6,136
A - | 7,000 | 420,000 | 7,000 | 470,000 | 112% 21,364
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